NAME : ' DATE PERIOD
Skills Practice
The Lawi"of Sines

Find each measure using the given measures from AABC. Round angle measures
to the nearest tenth degree and side measures to the nearest tenth.

1.fmzA = 35,m/B = 48,and b = 28, find a. afu -
2.If m/B =17, m£C = 46, and ¢ = 18, find 4. -7. 3
3.Ifm/C =86,m/A = 51,and a = 38,findc. L-[-8 g

4.Ifa = 17,b = 8, and m£A = 73, find m/B. PYPR

5.Ifc =38,b =34,and m/B = 36, find m2C.

Yi.{ or 12§.9
20
Ho -

6.Ifa =12,¢c = 20, and m£C = 83, find m/A.

7. If m/A = 22,0 = 18, and m2B= 104, find b.

-
" Exercises |
nd oach 1 i d angle measures to
Find each measure using the given measures of AAI:?‘;;:(];un ang
the nearest degree and side measures to the neares !
1. 1fc = 12, m/A = 80,and m£C = 40, find a. l 8‘%
2.Ifb = 20, ¢ = 26, and m£C = 52, find m/B. 5,.)
3.Ifa = 18,c = 16, and m/A = 84, find m2C. (0 9
4.1fa = 25, m/A = 72,and m/B = 17, find b.
5.1fb = 12, m/A = 89, and m/B= 80, find a.
(2. 2
gj 6.1fa = 30,c = 20, and mZA = 60, find m2C.
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NAME ; DATE PERIOD

Stlldy Guide and Intervention (continued)
The Law of Sines

j Use the Law of Sines to Solve Problems You can use the Law of Sines to solve
l ‘ ' some problems that involve triangles.
|
i

Let AABC be any triangle with a, b, and ¢ representing the measures of the sides opposite

Law of Sines sm A_sinB _sinC

i‘ ! the angles with measures A, B, and C, respectively. Then By = & °
| _"'Ef"_‘:"_'?‘_P_"* ® Isosceles AABC has a base of 24 centimeters and a B
vertex arngle of 68°. Find the perimeter of the triangle. 6g°
i The vertex angle is 68°, so the sum of the measures of the base angles is 7 5 \
sinB _ sng Law of Sines
/ b s
fi ! 2in 687 ~sin 56 m.B =68, b=24, mLA =156
i 24 a
i a sin 68° = 24 sin 56°  Cross muttiply.
I a = 2—‘;?11[175’06 Divide each side by sin 68°.
i; =~ 21.5 Use a calculator.
b The triangle is isosceles, so ¢ = 21.5.
% The perimeter is 24 + 21.5 + 21.5 or about 67 centimeters.

Draw a triangle to go with each exercise and mark it with the given information.
Then solve the problem. Round angle measures to the nearest degree and side
measures to the nearest tenth.

1. One side of a triangular garden is 42.0 feet. The angles on each end of this side meas;j_\
66° and 82°. Find the length of fence needed to ose the garden.
. G S e i SIS T

19944 WZE g T X

2. Two radar .statlons A and B are 32 miles' apart. They locate/an airplane X at the same
E time. The three pomts form /XAB, which measures 46°, and ZXBA, which measures

52°. How far is the airplane from each station? X Si'(\ 89\ S\ﬂqw Smga\ @

SN Wihkamd e T 3n 5 oy

3. A civil engineer wants tu determine the dlstances fromq'mmtsA and B to é}n inaccesmble
point C in a river. ZBAC measures 67° and ZABC measures 52°. If points A and B are
: 82.0 feet apart, find the distance from C to each point.fh] m)f P( - 13, 01

Yom%* Ko.2
4. A ranger tower at point A is 42 kilometers north of a ranget tower at point B. A fire at
: point C is observed from both towers. If ZBAC measures 43° and /ABC measures 68°,

which ranger tower is closer to the fire? How much closer?
| Thuey & & closer W \| \QV\

. © Glencoe/McGraw-Hill Glencoe Geometry

-

i



